TpuHaauaTbih YPOK Starter

There was / There were

an apple — eguMHCTB. Yucno =>

B xonogunbHuke 6b1no 96noko. There was an apple in the fridge. was

B moem cyne 6bina myxa. There was a fly in my soup. a fly — eaguHcTB. yncno => was
B napke 6bina xeHLmHa. There was a woman in the park. ::Vv?’;nsan — €OVIHCTB. Y1CIo

B 6yTbinke Geina Bopa. There was some water in the bottle, | "Water — SAMHCTB. 4ncno =>

was

There was a cake on the plate in a cake — eguHCTB. Yncno =>
YTpoM Ha Tapernke 6bino NMpoXxHoe.

the morning. was
Buepa Bevepom no tenesusopy 6bin There was a good film on TV a film — eanHcTB. Yncno =>
dunbMm. yesterday evening. was

There were four rooms in the rooms — MHOX. YMCno =>
B nome 6b1n10 YeTbipe KOMHATHI.

house. were

- There were many people in the people — MHOX. yncno =>

B otene 6b1n0 MHOro noaen.

hotel. were
B pectopaHe 6bino gea There were two waiters in the waiters — MHOX. Yncno =>

odumumaHTa. restaurant. were



B cymke 6blno MHOMO KHMUT.

B deBpane 6bino 28 gHen.

Ha npownon Hegene Ha Be4YEpPUHKe

Oblro okono 50 yenoBsek.

B 18 Beke 3aech Obina LEepKoBb.

B marasuHe He ObIno Mornoka.

B maluunHe 6bino aBa peGeHka.

Ha nonke He OblNo KHUT.

MpoLunon HoYblo B TBOEM cagy Obin

mMenBeb.

[ecaTb neT Haszag B 3TOM Napke
6blNI0 MHOTrO (POHTAHOB.

There were a lot of books in the
bag.

There were 28 days in February.

There were about fifty people at the
party last week.

There was a church here in XVIII
century.

There wasn't any milk in the shop.

There were two children in the car.

There were no books on the shelf.

There was a bear in your garden
last night.

There were many fountains in this
park 10 years ago.

books — MHOX. Yyncrno => were

days — MHOX. 4Yncno => were

people — MHOX. Yncno =>
were

a church — eguHcTB. Yncno =>
was

milk — eanHCTB. Ynucno => was

children — mHOX. Yyncno =>
were

books — MHOX. Yyncrno => were

a bear — eguHcTB. Yncno =>
was

fountains — MHOX. Yncno =>
were



MsaTb MecaueB Ha3ag B 3o00Mapke
ObINo YeTbipe TUrpa.

B aTOM TekcTe ObINO TpM HOBbLIX
crnosa.

Yepes aTy peky He Obiio MocTa.

B moem KapMaHe He ObIno OEHET.

B rapaxe ObINo ABe MaLUWHBI.

Ha nony 6bina Boaa.

Ha kyxHe 6bin cTon v YeTbipe
cTyna.

Ha kyxHe 6bino YeTbipe cTyna u
cTon.

There were four tigers in the zoo
five months ago.

There were three new words in the

text.

There wasn’t a bridge on this river.

There was no money in my pocket.

There were two cars in the garage.

There was water on the floor.

There was a table and four chairs in

the kitchen.

There were four chairs and a table
in the kitchen.

tigers — MHOX. uncno => were

words — MHOX. YnCno => were

a bridge — eguHcTB. yncno =>
was

money — €QNHCTB. YNCIOo =>
was

cars — MHOX. Yncrno => were

water — eqQuHCTB. Ynucno =>
was

a table — eguHcTB. Yncno =>
was

npu nepe4uncnenunn to be
cornacyeTcs TofnbKo C NepPBbIM
CYLLECTBUTENBHbIM

chairs — MHOX. yncrno => were
npu nepeduncnexmn to be
cornacyeTcsi TOfbKO C NepBbIM
CyLlecTBUTENbHbIM



